
cf=a=)&$÷)&% sf] nflu cg'dflgt cfo
qm=;= cfo{ lzif{s cg'dflgt cfo s}lkmot

1 cfGtl/s cfo 3535000.00

2 laQLo ;dfgLs/0f cg'bfg 132383000.00
3 ;z{t cg'bfg 79284000.00

hDdf 215202000.00

s_ cf=a=)&$÷)&% sf] nflu cg'dflgt cfGtl/s cfo
qm=;= cfo{ lzif{s cg'dflgt cfo s}lkmot

1 l;kmfl/; b:t'/ -j8f sfof{no ;d]taf6_ 300000.00
2 dfnkf]t -e"dLs/_ 100000.00
3 Aoj;f/ s/ 200000.00
4 la1fkg s/ 10000.00
5 3/ axfn s/ 20000.00
6 aflif{s ;jf/L s/ 5000.00
7 laB't /f]oN6L -:yfgLo laB'tu[xaf6 k|fKt x'g] 1200000.00
8 lgsf;L s/ -/fhZj af8kmf8_ 1200000.00
9 /lhi6«]zg z'Nsaf6 k|fKt cfDbfgL -dfnkf]t sfof{no_ 500000.00

hDdf 3535000.00


